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for(int i=1;i<=K;i++)
read(x),vis[St[++Top]=x]=1,ft[x]=m[x];//#IEEH
sort(St+1,St+Top+1,Cmp); //TXBRAIFFHERF
for(int i=2;i<=Top;i++){
int fa=Lca(St[i],St[i-1]);
if(!vis[fa])vis[St[++Top]=fa]l=1;
}
int Kp=Top;
for(int i=1;i<=Kp;i++)St[++Topl=-St[i];//IEAdfshRINE, TlHE
if(lvis[1])St[++Top]=1,St[++Top]l=-1;//HI¥rET mEEINNER

SR =R
FEABERAIFFDPENE] (RIFBHEISHIDFSHIIRE) .

sort(St+1,St+Top+1,Cmp);

for(int i=1;i<=Top;i++){
if(St[i]>0){Pop[++Cts]=St[i];continue;}// \i%
int Now=Pop[Cts],fa=Pop[--Cts];
if(Now™1l)ft[fa]+=min(111*m[Now],ft[Now]);//DP

else {
printf("%11ld\n",ft[1]),vis[1]=Fft[1]=0;
break;
}
vis[Now]=Fft[Now]=0;
}
SeaefXhg

#include <cstdio>
#include <cctype>
#include <algorithm>
using namespace std;

char tc(){
static char tr[10000],*A=tr, *B=tr;
return A==B&&(B=(A=tr)+fread(tr,1,10000,stdin),A==B)?EOF:*A++;
¥
void read(int &x){
char c;for(;!isdigit(c=tc()););
for(x=c-48;isdigit(c=tc());x=(x<<1)+(x<<3)+c-48);

const int S=2e5+5e4+5;

int head[S],nxt[S<<1],to[S<<1],w[S<<1],Cnt;

void Add(int x,int y,int c){
to[++Cnt]=y,w[Cnt]=c,nxt[Cnt]=head[x],head[x]=Cnt;
to[++Cnt]=x,w[Cnt]=c,nxt[Cnt]=head[y],head[y]=Cnt;
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long long ft[S];
int N,M,x,y,c,tot,P,Dfn,Top,Cts,Pop[S];
int vis[S],St[S<<2],f[S][27],m[S],Gi[S],Gt[S],d[S];
void dfs(int x,int fa,int dep){
Gi[x]=++Dfn,m[x]=min(dep,m[fa]);
d[x]=d[fa]+1,f[x][0]=Fa;
for(int i=head[x];i;i=nxt[i])
if(to[i]~fa)dfs(to[i],x,w[i]);
Gt[x]=++Dfn;
}
void init(void){
m[1]=m[@]=2e9,dfs(1,0,2e9);
for(int i=1;(1<<i)<=N;i++)
for(int j=1;j<=N;j++){
FIIIL1=FIFL3101-1]1[4-1];
}

return ;

int Lca(int x,int y){
if(d[x]<d[y])swap(x,y);
for(int i=26;~i;i--)if(d[f[x][i]]>=d[y])x=F[x][1i];
if(x==y)return x;
for(int i=26;~i;i--)if(f[x][i] Fly][i])x=F[x][i],y=F[y][i];
return f[x][0];

int Cmp(int x,int y){
return (x>0?Gi[x]:Gt[-x])<(y>0?Gi[y]:Gt[-y]);

int main()

read(N);
for(int i=1;i<N;i++)read(x),read(y),read(c),Add(x,y,c);
for(init(),read(M);M;M--){
int K;read(K),Top=0;
for(int i=1;i<=K;i++)
read(x),vis[St[++Top]=x]=1,ft[x]=m[x];
sort(St+1,St+Top+1,Cmp);
for(int i=2;i<=Top;i++){
int fa=Lca(St[i],St[i-1]);
if(!vis[fa])vis[St[++Top]=Ffa]l=1;
}
int Kp=Top;
for(int i=1;i<=Kp;i++)St[++Top]=-St[i];
if(lvis[1])St[++Top]=1,St[++Top]=-1;
sort(St+1,St+Top+1,Cmp);
for(int i=1;i<=Top;i++){
if(St[i]>0){Pop[++Cts]=St[i];continue;}
int Now=Pop[Cts],fa=Pop[--Cts];
if(Now™1)ft[fa]+=min(111*m[Now],ft[Now]);
else {
printf("%11ld\n",ft[1]),vis[1]=Fft[1]=0;
break;



vis[Now]=ft[Now]=0;

return 0;
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